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Fourier heat law
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We are going to solve a hyperbolized version of heat conduction:
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BCs:
Last time for parabolic heat conduction equation, only
g*.nx appeared in the WRS:
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Now we have both g*nx and T* (so essential BCon T can
be specified)

In (3) to get back to Fourier heat model we need to set the relaxation time equal

to zero.
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This reduction from a hyperbolic PDE is another approach to get to the
additional weight term that has (T* - T), see the formulation at the end of
the last session for another approach.

To reduce this to a 1-field formulation we interpolate T
only and get rid of compatibility / const. equation term
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We want to solve (3) - hyperbolic 2F heat equation, with aSDG (asynchronous



spacetime DG)
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That’s for a hyperbolic PDE such as MCV equation.
How about parabolic PDEs:
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What is the problem with parabolic PDEs
Instant propagation of information.
Moving faster than speed of light!
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